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	To compare the proportion p1 of defective light bulbs from Brand-A and the proportion p2 of defective bulbs from Brand-B, data was collected. In a sample of 120 bulbs from Brand-A, 18 were found to be defective. In a sample of 110 bulbs from Brand-B, 11 were found to be defective. 
In this question and the next two, we will compute a 95 percent confidence interval for the difference p1 -p2 of proportions. 
For this question, compute the margin of error. 


	Question-8 

	Compute the left end point l of a 95 percent confidence interval p1-p2. 


	Question-7 

	The time taken by an athlete to run an event has a distribution with mean μ seconds and known standard deviation σ = 3 seconds. The coach believes that the mean time μ of the athlete has improved from last year,s mean of 25 seconds. To test the belief of the coach, the athlete ran the event 29 times and the sample mean run time was found to be 23.9 seconds. 
In this question and the next two, we will do a significance test to determine if the athelete has improved. 
For this question compute the z-value for your collected data on the the athlete. 
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	Answer 
Question-8 
	This is a Numerical-Answer Type Question 
p-value = 
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0.02415
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